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All Candidates' performance across questions

Question Title

Mean

Max Mark

FF

Attempt %

AO3

377 12.1

4.9

20

60.7

100

AO4

Question

AO3

AS Spanish Edugas Component 3

40

60

Facility Factor %

70 80

90 100



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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El mundo del cine

4. Guillermo del Toro: El laberinto del fauno

(@ Comenta el papel de Ofelia y lo que representa en la pelicula.
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MARK SCHEME
General Advice for Examiners

The candidate is required to answer one guestion; either question (a) or (b), on one work
he/she has studied for AS. The work can be a literary work or film. The skills assessed on
this paper are AO3 and AO4. For AO3 the candidate must demonstrate that he / she is able
to manipulate Spanish accurately in written forms, using a wide range of lexis and structure.
For AO4 the candidate must show knowledge and understanding of and respond critically to,
different aspects of the culture and society of countries or communities where Spanish is
spoken. In Component 3 AO4 will be in the context of the literary work or film studied. There
is one marking grid. You will apply the mark scheme as set out in the marking grid. There
are five mark bands for AO3 and AO4, Each containing 4 marks. The mark for A03 is added
to the mark for A04 to give a total out of 40. To select the appropriate band and mark you
must do the following:

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor for the band provides a description of the performance level for that band.

You should first read and annotate a candidate’s answer to pick out the evidence that is
being assessed in that question. Once the annotation is complete, the mark scheme can be
applied. This is done as a two stage process.

Stage 1 - Deciding on the band

When deciding on a band for each assessment objective, the answer should be viewed
holistically. Beginning at the lowest band, you should look at the candidate’s answer and
check whether it matches the descriptor for that band. You should look at the descriptor for
that band and see if it matches the qualities shown in the candidate’s answer. If the
descriptor at the lowest band is satisfied, you should move up to the next band and repeat
this process for each band until the descriptor matches the answer. If an answer covers
different aspects of different bands within the mark scheme, a ‘best fit" approach should be
adopted to decide on the band and then the candidate’s response should be used to decide
on the mark within the band. For instance if a response is mainly in band 2 but with a limited
amount of band 3 content, the answer would be placed in band 2, but the mark awarded
would be close to the top of band 2 as a result of the band 3 content. You should not seek to
penalise candidates as a result of small omissions in minor areas of an answer.

Stage 2 — Deciding on the mark

Once the band has been decided, you can then assign a mark. During standardising
(marking conference), detailed advice from the Principal Examiner on the qualities of each
mark band will be given. You will then receive examples of answers that have been awarded
a mark by the Principal Examiner. You should mark the examples and compare their marks
with those of the Principal Examiner. When marking, you can use these examples to decide
whether a candidate’s response is of a superior, inferior or comparable standard to the
example. You are reminded of the need to revisit the answer as you apply the mark scheme
in order to confirm that the band and the mark allocated is appropriate to the response
provided.

© WJEC CBAC Ltd.





For AO4 a successful critical response is one which will clearly demonstrate that the
candidate is able to present and justify points of view, develop arguments and draw
conclusions based on understanding. At AS, knowledge and understanding of the work must
include a critical response to aspects such as structure of the plot, characterisation, and use
of imagery or other stylistic features, as appropriate to the work studied.

The approximate number of words advised is 250 words. Responses which exceed the
guidance must not be penalised and reward must be given for all valid responses. Itis
content which will determine whether a candidate has written enough to access the full mark
scheme and not the number of words. Additional notes are provided with the mark scheme
but they are not exhaustive, and any other valid points must be credited. In order to reach
the highest bands of the mark scheme a candidate need not cover all of the points
mentioned in the indicative content but must meet the requirements of the highest mark
band. Where a response is not creditworthy, that is, contains nothing of any significance to
the mark scheme, or where no response has been provided, no marks should be awarded.

When marking you should have the titles to hand as the questions require the candidate to
deal with a specific idea or ideas. The candidate is expected to answer the questions as set
and not provide a general comment on the subject matter as a whole. If a candidate adopts
a broad-brush approach he/she will be unlikely to focus on the questions as set, leading to
digression and irrelevance.

Component 3: Mark scheme

One question 40 marks.

The marks are divided as follows between the two Assessment Objectives; AO3 and AO4.

Marks AO3 | AO4 Total marks
Question (a) or (b) 20 20 40
Total 20 20 40
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Component 3: Marking grid for critical response in writing: 40 marks

Marks | AO3: manipulate the language accurately, in written forms, Marks | AO4*: show knowledge and understanding of, and respond critically to, different
using a range of lexis and structure aspects of the culture and society of countries/communities where the language is
spoken
e Accurate manipulation of the language of study, with only e Adetailed, critical appreciation of the literary work / film which is well supported by
minor errors. evidence.
17-20 | ¢ Use of a good range of lexis and grammatical structures. 17-20 | « Points of view are justified and fully developed, with valid conclusions.
e Style and register is mostly appropriate for the task set. e Entirely relevant response to all aspects of the question.
e Generally accurate manipulation of the language of study, e A critical appreciation of the literary work / film which is supported by evidence.
with few significant errors e Points of view are justified and developed, with valid conclusions.
13-16 | ¢ Use of a reasonable range of lexis and grammatical 13-16 | « Mainly relevant response to all aspects of the question.
structures.
e Style and register is generally appropriate for the task set.
¢ Reasonably accurate manipulation of the language of study, ¢ A sound knowledge of the literary work / film but some evidence is irrelevant.
9-12 but with some significant errors. _ 9.12 | ¢ Points of view are expressed with some supporting evidence and some valid
e Some vocabulary is lacking or used inappropriately. conclusions.
e Style and register is sometimes appropriate for the task set. e Response is relevant to most aspects of the question.
e Many significant errors in manipulation of language, which ¢ A superficial knowledge of the literary work / film with evidence which is nearly always
affect accuracy. irrelevant.
5-8 e Sentences are short or incomplete. 5-8 ¢ Points of view expressed with little use of supporting evidence or conclusions.
e Style and register is very simple. e Response is relevant to some aspects of the question.
o Little if any understanding of grammar. e A knowledge of the literary work/film which is extremely limited and there is no
e Sentences are fragmented with very few correct patterns and supporting evidence.
1-4 features of language of study. Short phrases predominate. 1-4 e Only a few points of view made are relevant to the question set; any conclusions rarely
¢ Almost total reliance on anglicised structures. link to views expressed.
e Response has limited focus on the question.
0 ¢ Nothing of value. 0 e Nothing of value.

*Please refer to the subject specific additional notes when assessing AO4.
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5. Pedro Almoddvar: Mujeres al borde de un ataque de nervios

(a) ¢Hasta qué punto se puede decir que Pepa esta “al borde de un ataque de
nervios”? [40]

AO4 In response to the essay question the candidate may:

o consider Pepa’s personality, professional activity and looks

o discuss the effect of lvan’s betrayal and her irrational
love towards him

o discuss Pepa’s decision not to tell lvan about her pregnancy

o discuss other subsequent events that may be a cause of stress
for Pepa in the film

The above points are suggestions only and are not exhaustive. Look
for and reward all relevant points arqgued by the candidate.

© WJEC CBAC Ltd.
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Sticky Note

Accurate manipulation of the language of study, with only minor errors.
Use of a good range of lexis and grammatical structures.
Style and register is mostly appropriate for the task set.



Sticky Note

A detailed, critical appreciation of the film which is well supported by evidence.
Points of view are justified and fully developed, with valid conclusions.
Entirely relevant response to all aspects of the question.
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Sticky Note

Generally accurate manipulation of the language of study, with few significant errors.
Use of a reasonable range of lexis and grammatical structures.
Style and register is generally appropriate for the task set.



Sticky Note

A critical appreciation of the film which is supported by evidence.
Points of view are justified and developed, with valid conclusions.
Mainly relevant response to all aspects of the question.






















El mundo del cine

5. Pedro Almodévar: Mujeres al borde de un ataque de nervios

(a) ¢Hasta qué punto se puede decir que Pepa esta “al borde de un ataque de nervios”™?

END OF PAPER
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MARK SCHEME
General Advice for Examiners

The candidate is required to answer one guestion; either question (a) or (b), on one work
he/she has studied for AS. The work can be a literary work or film. The skills assessed on
this paper are AO3 and AO4. For AO3 the candidate must demonstrate that he / she is able
to manipulate Spanish accurately in written forms, using a wide range of lexis and structure.
For AO4 the candidate must show knowledge and understanding of and respond critically to,
different aspects of the culture and society of countries or communities where Spanish is
spoken. In Component 3 AO4 will be in the context of the literary work or film studied. There
is one marking grid. You will apply the mark scheme as set out in the marking grid. There
are five mark bands for AO3 and AO4, Each containing 4 marks. The mark for A03 is added
to the mark for A04 to give a total out of 40. To select the appropriate band and mark you
must do the following:

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor for the band provides a description of the performance level for that band.

You should first read and annotate a candidate’s answer to pick out the evidence that is
being assessed in that question. Once the annotation is complete, the mark scheme can be
applied. This is done as a two stage process.

Stage 1 - Deciding on the band

When deciding on a band for each assessment objective, the answer should be viewed
holistically. Beginning at the lowest band, you should look at the candidate’s answer and
check whether it matches the descriptor for that band. You should look at the descriptor for
that band and see if it matches the qualities shown in the candidate’s answer. If the
descriptor at the lowest band is satisfied, you should move up to the next band and repeat
this process for each band until the descriptor matches the answer. If an answer covers
different aspects of different bands within the mark scheme, a ‘best fit" approach should be
adopted to decide on the band and then the candidate’s response should be used to decide
on the mark within the band. For instance if a response is mainly in band 2 but with a limited
amount of band 3 content, the answer would be placed in band 2, but the mark awarded
would be close to the top of band 2 as a result of the band 3 content. You should not seek to
penalise candidates as a result of small omissions in minor areas of an answer.

Stage 2 — Deciding on the mark

Once the band has been decided, you can then assign a mark. During standardising
(marking conference), detailed advice from the Principal Examiner on the qualities of each
mark band will be given. You will then receive examples of answers that have been awarded
a mark by the Principal Examiner. You should mark the examples and compare their marks
with those of the Principal Examiner. When marking, you can use these examples to decide
whether a candidate’s response is of a superior, inferior or comparable standard to the
example. You are reminded of the need to revisit the answer as you apply the mark scheme
in order to confirm that the band and the mark allocated is appropriate to the response
provided.

© WJEC CBAC Ltd.





For AO4 a successful critical response is one which will clearly demonstrate that the
candidate is able to present and justify points of view, develop arguments and draw
conclusions based on understanding. At AS, knowledge and understanding of the work must
include a critical response to aspects such as structure of the plot, characterisation, and use
of imagery or other stylistic features, as appropriate to the work studied.

The approximate number of words advised is 250 words. Responses which exceed the
guidance must not be penalised and reward must be given for all valid responses. Itis
content which will determine whether a candidate has written enough to access the full mark
scheme and not the number of words. Additional notes are provided with the mark scheme
but they are not exhaustive, and any other valid points must be credited. In order to reach
the highest bands of the mark scheme a candidate need not cover all of the points
mentioned in the indicative content but must meet the requirements of the highest mark
band. Where a response is not creditworthy, that is, contains nothing of any significance to
the mark scheme, or where no response has been provided, no marks should be awarded.

When marking you should have the titles to hand as the questions require the candidate to
deal with a specific idea or ideas. The candidate is expected to answer the questions as set
and not provide a general comment on the subject matter as a whole. If a candidate adopts
a broad-brush approach he/she will be unlikely to focus on the questions as set, leading to
digression and irrelevance.

Component 3: Mark scheme

One question 40 marks.

The marks are divided as follows between the two Assessment Objectives; AO3 and AO4.

Marks AO3 | AO4 Total marks
Question (a) or (b) 20 20 40
Total 20 20 40
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Component 3: Marking grid for critical response in writing: 40 marks

Marks | AO3: manipulate the language accurately, in written forms, Marks | AO4*: show knowledge and understanding of, and respond critically to, different
using a range of lexis and structure aspects of the culture and society of countries/communities where the language is
spoken
e Accurate manipulation of the language of study, with only e Adetailed, critical appreciation of the literary work / film which is well supported by
minor errors. evidence.
17-20 | ¢ Use of a good range of lexis and grammatical structures. 17-20 | « Points of view are justified and fully developed, with valid conclusions.
e Style and register is mostly appropriate for the task set. e Entirely relevant response to all aspects of the question.
e Generally accurate manipulation of the language of study, e A critical appreciation of the literary work / film which is supported by evidence.
with few significant errors e Points of view are justified and developed, with valid conclusions.
13-16 | ¢ Use of a reasonable range of lexis and grammatical 13-16 | « Mainly relevant response to all aspects of the question.
structures.
e Style and register is generally appropriate for the task set.
¢ Reasonably accurate manipulation of the language of study, ¢ A sound knowledge of the literary work / film but some evidence is irrelevant.
9-12 but with some significant errors. _ 9.12 | ¢ Points of view are expressed with some supporting evidence and some valid
e Some vocabulary is lacking or used inappropriately. conclusions.
e Style and register is sometimes appropriate for the task set. e Response is relevant to most aspects of the question.
e Many significant errors in manipulation of language, which ¢ A superficial knowledge of the literary work / film with evidence which is nearly always
affect accuracy. irrelevant.
5-8 e Sentences are short or incomplete. 5-8 ¢ Points of view expressed with little use of supporting evidence or conclusions.
e Style and register is very simple. e Response is relevant to some aspects of the question.
o Little if any understanding of grammar. e A knowledge of the literary work/film which is extremely limited and there is no
e Sentences are fragmented with very few correct patterns and supporting evidence.
1-4 features of language of study. Short phrases predominate. 1-4 e Only a few points of view made are relevant to the question set; any conclusions rarely
¢ Almost total reliance on anglicised structures. link to views expressed.
e Response has limited focus on the question.
0 ¢ Nothing of value. 0 e Nothing of value.

*Please refer to the subject specific additional notes when assessing AO4.
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6. Joshua Marston: Maria, llena eres de gracia

(a) Comenta las razones que tiene Maria para emigrar a los EE.UU. y sus
expectativas. [40]

AO4 In response to the essay question the candidate may:

e discuss Maria’s sordid working conditions in Colombia

e consider her situation at home, having to work to support the
whole family

o discuss her loveless relationship with her boyfriend and how
she sees herself when she finds out that she is pregnant

o discuss the opportunities offered by a new life in the USA for
her and her baby

The above points are suggestions only and are not exhaustive. Look
for and reward all relevant points arqued by the candidate.

GCE AS (NEW) — COMPONENT 3 SPANISH MS Summer 2017 B810U30-1/HT
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Sticky Note

Accurate manipulation of the language of study, with only minor errors.
Use of a good range of lexis and grammatical structures.
Style and register is mostly appropriate for the task set.



Sticky Note

A detailed, critical appreciation of the film which is well supported by evidence.
Points of view are justified and fully developed, with valid conclusions.
Entirely relevant response to all aspects of the question.
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number inside the boxes next Answer
to the first line of your answer
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Write the two digit question

number

Leave

inside the boxes next Answer blank
to the first line of your answer
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number inside the boxes next Answer
to the first line of your answer
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Sticky Note

Accurate manipulation of the language of study, with only minor errors.
Use of a good range of lexis and grammatical structures.
Style and register is mostly appropriate for the task set.



Sticky Note

A detailed, critical appreciation of the film which is well supported by evidence.
Points of view are justified and fully developed, with valid conclusions.
Entirely relevant response to all aspects of the question.
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number inside the boxes next Answer
to the first line of your answer
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Sticky Note

Reasonably accurate manipulation of the language of study, but with some significant errors.
Some vocabulary is lacking or used inappropriately.
Style and register is sometimes appropriate for the task set.



Sticky Note

A critical appreciation of the film which is supported by evidence.
Points of view are justified and developed, with valid conclusions.
Mainly relevant response to all aspects of the question.
















El mundo del cine

6. Joshua Marston: Maria, llena eres de gracia

(a) Comenta las razones que tiene Maria para emigrar a los EE.UU. y sus expectativas.

END OF PAPER
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Write the two digit question
number inside the boxes next
to the first line of your answer
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Write the two digit question Leave
number inside the boxes next Answer blank
to the first line of your answer
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MARK SCHEME
General Advice for Examiners

The candidate is required to answer one guestion; either question (a) or (b), on one work
he/she has studied for AS. The work can be a literary work or film. The skills assessed on
this paper are AO3 and AO4. For AO3 the candidate must demonstrate that he / she is able
to manipulate Spanish accurately in written forms, using a wide range of lexis and structure.
For AO4 the candidate must show knowledge and understanding of and respond critically to,
different aspects of the culture and society of countries or communities where Spanish is
spoken. In Component 3 AO4 will be in the context of the literary work or film studied. There
is one marking grid. You will apply the mark scheme as set out in the marking grid. There
are five mark bands for AO3 and AO4, Each containing 4 marks. The mark for A03 is added
to the mark for A04 to give a total out of 40. To select the appropriate band and mark you
must do the following:

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor for the band provides a description of the performance level for that band.

You should first read and annotate a candidate’s answer to pick out the evidence that is
being assessed in that question. Once the annotation is complete, the mark scheme can be
applied. This is done as a two stage process.

Stage 1 - Deciding on the band

When deciding on a band for each assessment objective, the answer should be viewed
holistically. Beginning at the lowest band, you should look at the candidate’s answer and
check whether it matches the descriptor for that band. You should look at the descriptor for
that band and see if it matches the qualities shown in the candidate’s answer. If the
descriptor at the lowest band is satisfied, you should move up to the next band and repeat
this process for each band until the descriptor matches the answer. If an answer covers
different aspects of different bands within the mark scheme, a ‘best fit" approach should be
adopted to decide on the band and then the candidate’s response should be used to decide
on the mark within the band. For instance if a response is mainly in band 2 but with a limited
amount of band 3 content, the answer would be placed in band 2, but the mark awarded
would be close to the top of band 2 as a result of the band 3 content. You should not seek to
penalise candidates as a result of small omissions in minor areas of an answer.

Stage 2 — Deciding on the mark

Once the band has been decided, you can then assign a mark. During standardising
(marking conference), detailed advice from the Principal Examiner on the qualities of each
mark band will be given. You will then receive examples of answers that have been awarded
a mark by the Principal Examiner. You should mark the examples and compare their marks
with those of the Principal Examiner. When marking, you can use these examples to decide
whether a candidate’s response is of a superior, inferior or comparable standard to the
example. You are reminded of the need to revisit the answer as you apply the mark scheme
in order to confirm that the band and the mark allocated is appropriate to the response
provided.
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For AO4 a successful critical response is one which will clearly demonstrate that the
candidate is able to present and justify points of view, develop arguments and draw
conclusions based on understanding. At AS, knowledge and understanding of the work must
include a critical response to aspects such as structure of the plot, characterisation, and use
of imagery or other stylistic features, as appropriate to the work studied.

The approximate number of words advised is 250 words. Responses which exceed the
guidance must not be penalised and reward must be given for all valid responses. Itis
content which will determine whether a candidate has written enough to access the full mark
scheme and not the number of words. Additional notes are provided with the mark scheme
but they are not exhaustive, and any other valid points must be credited. In order to reach
the highest bands of the mark scheme a candidate need not cover all of the points
mentioned in the indicative content but must meet the requirements of the highest mark
band. Where a response is not creditworthy, that is, contains nothing of any significance to
the mark scheme, or where no response has been provided, no marks should be awarded.

When marking you should have the titles to hand as the questions require the candidate to
deal with a specific idea or ideas. The candidate is expected to answer the questions as set
and not provide a general comment on the subject matter as a whole. If a candidate adopts
a broad-brush approach he/she will be unlikely to focus on the questions as set, leading to
digression and irrelevance.

Component 3: Mark scheme

One question 40 marks.

The marks are divided as follows between the two Assessment Objectives; AO3 and AO4.

Marks AO3 | AO4 Total marks
Question (a) or (b) 20 20 40
Total 20 20 40
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Component 3: Marking grid for critical response in writing: 40 marks

Marks | AO3: manipulate the language accurately, in written forms, Marks | AO4*: show knowledge and understanding of, and respond critically to, different
using a range of lexis and structure aspects of the culture and society of countries/communities where the language is
spoken
e Accurate manipulation of the language of study, with only e Adetailed, critical appreciation of the literary work / film which is well supported by
minor errors. evidence.
17-20 | ¢ Use of a good range of lexis and grammatical structures. 17-20 | « Points of view are justified and fully developed, with valid conclusions.
e Style and register is mostly appropriate for the task set. e Entirely relevant response to all aspects of the question.
e Generally accurate manipulation of the language of study, e A critical appreciation of the literary work / film which is supported by evidence.
with few significant errors e Points of view are justified and developed, with valid conclusions.
13-16 | ¢ Use of a reasonable range of lexis and grammatical 13-16 | « Mainly relevant response to all aspects of the question.
structures.
e Style and register is generally appropriate for the task set.
¢ Reasonably accurate manipulation of the language of study, ¢ A sound knowledge of the literary work / film but some evidence is irrelevant.
9-12 but with some significant errors. _ 9.12 | ¢ Points of view are expressed with some supporting evidence and some valid
e Some vocabulary is lacking or used inappropriately. conclusions.
e Style and register is sometimes appropriate for the task set. e Response is relevant to most aspects of the question.
e Many significant errors in manipulation of language, which ¢ A superficial knowledge of the literary work / film with evidence which is nearly always
affect accuracy. irrelevant.
5-8 e Sentences are short or incomplete. 5-8 ¢ Points of view expressed with little use of supporting evidence or conclusions.
e Style and register is very simple. e Response is relevant to some aspects of the question.
o Little if any understanding of grammar. e A knowledge of the literary work/film which is extremely limited and there is no
e Sentences are fragmented with very few correct patterns and supporting evidence.
1-4 features of language of study. Short phrases predominate. 1-4 e Only a few points of view made are relevant to the question set; any conclusions rarely
¢ Almost total reliance on anglicised structures. link to views expressed.
e Response has limited focus on the question.
0 ¢ Nothing of value. 0 e Nothing of value.

*Please refer to the subject specific additional notes when assessing AO4.
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3. Laura Esquivel: Como agua para chocolate

(a) Comenta el impacto que tiene el Dr. Brown en la vida de Tita. [40]

AO4 In response to the essay question the candidate may:

e discuss Dr Brown'’s first appearance and supporting attitude

e consider his sympathy for Tita and his decision to take her to his
house

e consider his magical background and how this helps Tita

e discuss his response to Tita's feelings towards him and their
future relationship

The above points are suggestions only and are not exhaustive. Look for
and reward all relevant points arqued by the candidate.

© WJEC CBAC Ltd.
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number inside the boxes next Answer
to the first line of your answer
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number inside the boxes next Answer blank
to the first line of your answer
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Sticky Note

Generally accurate manipulation of the language of study, with few significant errors.
Use of a reasonable range of lexis and grammatical structures.
Style and register is generally appropriate for the task set.



Sticky Note

A critical appreciation of the literary work which is supported by evidence.
Points of view are justified and developed, with valid conclusions.
Mainly relevant response to all aspects of the question.




























Answer one question.
Después de elegir un texto literario o una pelicula, escribe un ensayo de aproximadamente 250
palabras en espafol sobre uno de los temas propuestos para cada texto. [40]
iCuidado! después de elegir el texto literario o la pelicula, tienes que escribir solo un ensayo.

El mundo de la literatura

3. Laura Esquivel: Como agua para chocolate

(@) Comenta el impacto que tiene el Dr. Brown en la vida de Tita.
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MARK SCHEME
General Advice for Examiners

The candidate is required to answer one guestion; either question (a) or (b), on one work
he/she has studied for AS. The work can be a literary work or film. The skills assessed on
this paper are AO3 and AO4. For AO3 the candidate must demonstrate that he / she is able
to manipulate Spanish accurately in written forms, using a wide range of lexis and structure.
For AO4 the candidate must show knowledge and understanding of and respond critically to,
different aspects of the culture and society of countries or communities where Spanish is
spoken. In Component 3 AO4 will be in the context of the literary work or film studied. There
is one marking grid. You will apply the mark scheme as set out in the marking grid. There
are five mark bands for AO3 and AO4, Each containing 4 marks. The mark for A03 is added
to the mark for A04 to give a total out of 40. To select the appropriate band and mark you
must do the following:

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor for the band provides a description of the performance level for that band.

You should first read and annotate a candidate’s answer to pick out the evidence that is
being assessed in that question. Once the annotation is complete, the mark scheme can be
applied. This is done as a two stage process.

Stage 1 - Deciding on the band

When deciding on a band for each assessment objective, the answer should be viewed
holistically. Beginning at the lowest band, you should look at the candidate’s answer and
check whether it matches the descriptor for that band. You should look at the descriptor for
that band and see if it matches the qualities shown in the candidate’s answer. If the
descriptor at the lowest band is satisfied, you should move up to the next band and repeat
this process for each band until the descriptor matches the answer. If an answer covers
different aspects of different bands within the mark scheme, a ‘best fit" approach should be
adopted to decide on the band and then the candidate’s response should be used to decide
on the mark within the band. For instance if a response is mainly in band 2 but with a limited
amount of band 3 content, the answer would be placed in band 2, but the mark awarded
would be close to the top of band 2 as a result of the band 3 content. You should not seek to
penalise candidates as a result of small omissions in minor areas of an answer.

Stage 2 — Deciding on the mark

Once the band has been decided, you can then assign a mark. During standardising
(marking conference), detailed advice from the Principal Examiner on the qualities of each
mark band will be given. You will then receive examples of answers that have been awarded
a mark by the Principal Examiner. You should mark the examples and compare their marks
with those of the Principal Examiner. When marking, you can use these examples to decide
whether a candidate’s response is of a superior, inferior or comparable standard to the
example. You are reminded of the need to revisit the answer as you apply the mark scheme
in order to confirm that the band and the mark allocated is appropriate to the response
provided.

© WJEC CBAC Ltd.





For AO4 a successful critical response is one which will clearly demonstrate that the
candidate is able to present and justify points of view, develop arguments and draw
conclusions based on understanding. At AS, knowledge and understanding of the work must
include a critical response to aspects such as structure of the plot, characterisation, and use
of imagery or other stylistic features, as appropriate to the work studied.

The approximate number of words advised is 250 words. Responses which exceed the
guidance must not be penalised and reward must be given for all valid responses. Itis
content which will determine whether a candidate has written enough to access the full mark
scheme and not the number of words. Additional notes are provided with the mark scheme
but they are not exhaustive, and any other valid points must be credited. In order to reach
the highest bands of the mark scheme a candidate need not cover all of the points
mentioned in the indicative content but must meet the requirements of the highest mark
band. Where a response is not creditworthy, that is, contains nothing of any significance to
the mark scheme, or where no response has been provided, no marks should be awarded.

When marking you should have the titles to hand as the questions require the candidate to
deal with a specific idea or ideas. The candidate is expected to answer the questions as set
and not provide a general comment on the subject matter as a whole. If a candidate adopts
a broad-brush approach he/she will be unlikely to focus on the questions as set, leading to
digression and irrelevance.

Component 3: Mark scheme

One question 40 marks.

The marks are divided as follows between the two Assessment Objectives; AO3 and AO4.

Marks AO3 | AO4 Total marks
Question (a) or (b) 20 20 40
Total 20 20 40
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Component 3: Marking grid for critical response in writing: 40 marks

Marks | AO3: manipulate the language accurately, in written forms, Marks | AO4*: show knowledge and understanding of, and respond critically to, different
using a range of lexis and structure aspects of the culture and society of countries/communities where the language is
spoken
e Accurate manipulation of the language of study, with only e Adetailed, critical appreciation of the literary work / film which is well supported by
minor errors. evidence.
17-20 | ¢ Use of a good range of lexis and grammatical structures. 17-20 | « Points of view are justified and fully developed, with valid conclusions.
e Style and register is mostly appropriate for the task set. e Entirely relevant response to all aspects of the question.
e Generally accurate manipulation of the language of study, e A critical appreciation of the literary work / film which is supported by evidence.
with few significant errors e Points of view are justified and developed, with valid conclusions.
13-16 | ¢ Use of a reasonable range of lexis and grammatical 13-16 | « Mainly relevant response to all aspects of the question.
structures.
e Style and register is generally appropriate for the task set.
¢ Reasonably accurate manipulation of the language of study, ¢ A sound knowledge of the literary work / film but some evidence is irrelevant.
9-12 but with some significant errors. _ 9.12 | ¢ Points of view are expressed with some supporting evidence and some valid
e Some vocabulary is lacking or used inappropriately. conclusions.
e Style and register is sometimes appropriate for the task set. e Response is relevant to most aspects of the question.
e Many significant errors in manipulation of language, which ¢ A superficial knowledge of the literary work / film with evidence which is nearly always
affect accuracy. irrelevant.
5-8 e Sentences are short or incomplete. 5-8 ¢ Points of view expressed with little use of supporting evidence or conclusions.
e Style and register is very simple. e Response is relevant to some aspects of the question.
o Little if any understanding of grammar. e A knowledge of the literary work/film which is extremely limited and there is no
e Sentences are fragmented with very few correct patterns and supporting evidence.
1-4 features of language of study. Short phrases predominate. 1-4 e Only a few points of view made are relevant to the question set; any conclusions rarely
¢ Almost total reliance on anglicised structures. link to views expressed.
e Response has limited focus on the question.
0 ¢ Nothing of value. 0 e Nothing of value.

*Please refer to the subject specific additional notes when assessing AO4.
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3. Laura Esquivel: Como agua para chocolate

(b) Comenta las situaciones de realismo mégico que causa Tita. [40]

AO4 In response to the essay question the candidate may:

e discuss Tita's birth and its significance

e discuss the devastating effect of the wedding cake on Nacha and the
other guests

e discuss the aftermath of the dish Cordornices en pétalos de rosas

e consider Rosaura's attitude and how Tita's recipes react on her

The above points are suggestions only and are not exhaustive. Look for
and reward all relevant points argued by the candidate.

© WJEC CBAC Ltd.
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Sticky Note

AO4: An entirely relevant beginning



Polygonal Line
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Sticky Note

AO4: A good attempt to offer supporting evidence although the analysis is not entirely clear.



Sticky Note

Despite the language inaccuracies, this is a competent interpretation showing critical appreciation of the literary work.



Sticky Note

A concise, pertinent conclusion.



Polygonal Line



Polygonal Line



Sticky Note

A detailed, critical appreciation of the literary work which is well supported by evidence.
Points of view are justified and fully developed, with valid conclusions.
Entirely relevant response to all aspects of the question.



Sticky Note

Accurate manipulation of the language of study, with only minor errors.
Use of a good range of lexis and grammatical structures.
Style and register is mostly appropriate for the task set.




























Answer one question.

Después de elegir un texto literario o una pelicula, escribe un ensayo de aproximadamente 250
palabras en espafol sobre uno de los temas propuestos para cada texto. [40]

iCuidado! después de elegir el texto literario o la pelicula, tienes que escribir solo un ensayo.

El mundo de la literatura

3. Laura Esquivel: Como agua para chocolate

(b) Comenta las situaciones de realismo magico que causa Tita.
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MARK SCHEME
General Advice for Examiners

The candidate is required to answer one guestion; either question (a) or (b), on one work
he/she has studied for AS. The work can be a literary work or film. The skills assessed on
this paper are AO3 and AO4. For AO3 the candidate must demonstrate that he / she is able
to manipulate Spanish accurately in written forms, using a wide range of lexis and structure.
For AO4 the candidate must show knowledge and understanding of and respond critically to,
different aspects of the culture and society of countries or communities where Spanish is
spoken. In Component 3 AO4 will be in the context of the literary work or film studied. There
is one marking grid. You will apply the mark scheme as set out in the marking grid. There
are five mark bands for AO3 and AO4, Each containing 4 marks. The mark for A03 is added
to the mark for A04 to give a total out of 40. To select the appropriate band and mark you
must do the following:

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor for the band provides a description of the performance level for that band.

You should first read and annotate a candidate’s answer to pick out the evidence that is
being assessed in that question. Once the annotation is complete, the mark scheme can be
applied. This is done as a two stage process.

Stage 1 - Deciding on the band

When deciding on a band for each assessment objective, the answer should be viewed
holistically. Beginning at the lowest band, you should look at the candidate’s answer and
check whether it matches the descriptor for that band. You should look at the descriptor for
that band and see if it matches the qualities shown in the candidate’s answer. If the
descriptor at the lowest band is satisfied, you should move up to the next band and repeat
this process for each band until the descriptor matches the answer. If an answer covers
different aspects of different bands within the mark scheme, a ‘best fit" approach should be
adopted to decide on the band and then the candidate’s response should be used to decide
on the mark within the band. For instance if a response is mainly in band 2 but with a limited
amount of band 3 content, the answer would be placed in band 2, but the mark awarded
would be close to the top of band 2 as a result of the band 3 content. You should not seek to
penalise candidates as a result of small omissions in minor areas of an answer.

Stage 2 — Deciding on the mark

Once the band has been decided, you can then assign a mark. During standardising
(marking conference), detailed advice from the Principal Examiner on the qualities of each
mark band will be given. You will then receive examples of answers that have been awarded
a mark by the Principal Examiner. You should mark the examples and compare their marks
with those of the Principal Examiner. When marking, you can use these examples to decide
whether a candidate’s response is of a superior, inferior or comparable standard to the
example. You are reminded of the need to revisit the answer as you apply the mark scheme
in order to confirm that the band and the mark allocated is appropriate to the response
provided.
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For AO4 a successful critical response is one which will clearly demonstrate that the
candidate is able to present and justify points of view, develop arguments and draw
conclusions based on understanding. At AS, knowledge and understanding of the work must
include a critical response to aspects such as structure of the plot, characterisation, and use
of imagery or other stylistic features, as appropriate to the work studied.

The approximate number of words advised is 250 words. Responses which exceed the
guidance must not be penalised and reward must be given for all valid responses. Itis
content which will determine whether a candidate has written enough to access the full mark
scheme and not the number of words. Additional notes are provided with the mark scheme
but they are not exhaustive, and any other valid points must be credited. In order to reach
the highest bands of the mark scheme a candidate need not cover all of the points
mentioned in the indicative content but must meet the requirements of the highest mark
band. Where a response is not creditworthy, that is, contains nothing of any significance to
the mark scheme, or where no response has been provided, no marks should be awarded.

When marking you should have the titles to hand as the questions require the candidate to
deal with a specific idea or ideas. The candidate is expected to answer the questions as set
and not provide a general comment on the subject matter as a whole. If a candidate adopts
a broad-brush approach he/she will be unlikely to focus on the questions as set, leading to
digression and irrelevance.

Component 3: Mark scheme

One question 40 marks.

The marks are divided as follows between the two Assessment Objectives; AO3 and AO4.

Marks AO3 | AO4 Total marks
Question (a) or (b) 20 20 40
Total 20 20 40
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Component 3: Marking grid for critical response in writing: 40 marks

Marks | AO3: manipulate the language accurately, in written forms, Marks | AO4*: show knowledge and understanding of, and respond critically to, different
using a range of lexis and structure aspects of the culture and society of countries/communities where the language is
spoken
e Accurate manipulation of the language of study, with only e Adetailed, critical appreciation of the literary work / film which is well supported by
minor errors. evidence.
17-20 | ¢ Use of a good range of lexis and grammatical structures. 17-20 | « Points of view are justified and fully developed, with valid conclusions.
e Style and register is mostly appropriate for the task set. e Entirely relevant response to all aspects of the question.
e Generally accurate manipulation of the language of study, e A critical appreciation of the literary work / film which is supported by evidence.
with few significant errors e Points of view are justified and developed, with valid conclusions.
13-16 | ¢ Use of a reasonable range of lexis and grammatical 13-16 | « Mainly relevant response to all aspects of the question.
structures.
e Style and register is generally appropriate for the task set.
¢ Reasonably accurate manipulation of the language of study, ¢ A sound knowledge of the literary work / film but some evidence is irrelevant.
9-12 but with some significant errors. _ 9.12 | ¢ Points of view are expressed with some supporting evidence and some valid
e Some vocabulary is lacking or used inappropriately. conclusions.
e Style and register is sometimes appropriate for the task set. e Response is relevant to most aspects of the question.
e Many significant errors in manipulation of language, which ¢ A superficial knowledge of the literary work / film with evidence which is nearly always
affect accuracy. irrelevant.
5-8 e Sentences are short or incomplete. 5-8 ¢ Points of view expressed with little use of supporting evidence or conclusions.
e Style and register is very simple. e Response is relevant to some aspects of the question.
o Little if any understanding of grammar. e A knowledge of the literary work/film which is extremely limited and there is no
e Sentences are fragmented with very few correct patterns and supporting evidence.
1-4 features of language of study. Short phrases predominate. 1-4 e Only a few points of view made are relevant to the question set; any conclusions rarely
¢ Almost total reliance on anglicised structures. link to views expressed.
e Response has limited focus on the question.
0 ¢ Nothing of value. 0 e Nothing of value.

*Please refer to the subject specific additional notes when assessing AO4.
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El mundo del cine
4, Guillermo del Toro: El laberinto del fauno

(@) Comenta el papel de Ofelia 'y lo que representa en la pelicula. [40]

AO4 In response to the essay question the candidate may:

o discuss her difficult family circumstances and her vulnerability

e consider her personality and her nature

o discuss Ofelia’s two worlds

e consider her relationship with other characters in the film

The above points are suggestions only and are not exhaustive. Look for
and reward all relevant points argued by the candidate.

© WJEC CBAC Ltd.
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Sticky Note

A detailed, critical appreciation of the film which is well supported by evidence.
Points of view are justified and fully developed, with valid conclusions.
Entirely relevant response to all aspects of the question.



Sticky Note

Accurate manipulation of the language of study, with only minor errors.
Use of a good range of lexis and grammatical structures.
Style and register is mostly appropriate for the task set.
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MARK SCHEME
General Advice for Examiners

The candidate is required to answer one guestion; either question (a) or (b), on one work
he/she has studied for AS. The work can be a literary work or film. The skills assessed on
this paper are AO3 and AO4. For AO3 the candidate must demonstrate that he / she is able
to manipulate Spanish accurately in written forms, using a wide range of lexis and structure.
For AO4 the candidate must show knowledge and understanding of and respond critically to,
different aspects of the culture and society of countries or communities where Spanish is
spoken. In Component 3 AO4 will be in the context of the literary work or film studied. There
is one marking grid. You will apply the mark scheme as set out in the marking grid. There
are five mark bands for AO3 and AO4, Each containing 4 marks. The mark for A03 is added
to the mark for A04 to give a total out of 40. To select the appropriate band and mark you
must do the following:

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor for the band provides a description of the performance level for that band.

You should first read and annotate a candidate’s answer to pick out the evidence that is
being assessed in that question. Once the annotation is complete, the mark scheme can be
applied. This is done as a two stage process.

Stage 1 - Deciding on the band

When deciding on a band for each assessment objective, the answer should be viewed
holistically. Beginning at the lowest band, you should look at the candidate’s answer and
check whether it matches the descriptor for that band. You should look at the descriptor for
that band and see if it matches the qualities shown in the candidate’s answer. If the
descriptor at the lowest band is satisfied, you should move up to the next band and repeat
this process for each band until the descriptor matches the answer. If an answer covers
different aspects of different bands within the mark scheme, a ‘best fit" approach should be
adopted to decide on the band and then the candidate’s response should be used to decide
on the mark within the band. For instance if a response is mainly in band 2 but with a limited
amount of band 3 content, the answer would be placed in band 2, but the mark awarded
would be close to the top of band 2 as a result of the band 3 content. You should not seek to
penalise candidates as a result of small omissions in minor areas of an answer.

Stage 2 — Deciding on the mark

Once the band has been decided, you can then assign a mark. During standardising
(marking conference), detailed advice from the Principal Examiner on the qualities of each
mark band will be given. You will then receive examples of answers that have been awarded
a mark by the Principal Examiner. You should mark the examples and compare their marks
with those of the Principal Examiner. When marking, you can use these examples to decide
whether a candidate’s response is of a superior, inferior or comparable standard to the
example. You are reminded of the need to revisit the answer as you apply the mark scheme
in order to confirm that the band and the mark allocated is appropriate to the response
provided.
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For AO4 a successful critical response is one which will clearly demonstrate that the
candidate is able to present and justify points of view, develop arguments and draw
conclusions based on understanding. At AS, knowledge and understanding of the work must
include a critical response to aspects such as structure of the plot, characterisation, and use
of imagery or other stylistic features, as appropriate to the work studied.

The approximate number of words advised is 250 words. Responses which exceed the
guidance must not be penalised and reward must be given for all valid responses. Itis
content which will determine whether a candidate has written enough to access the full mark
scheme and not the number of words. Additional notes are provided with the mark scheme
but they are not exhaustive, and any other valid points must be credited. In order to reach
the highest bands of the mark scheme a candidate need not cover all of the points
mentioned in the indicative content but must meet the requirements of the highest mark
band. Where a response is not creditworthy, that is, contains nothing of any significance to
the mark scheme, or where no response has been provided, no marks should be awarded.

When marking you should have the titles to hand as the questions require the candidate to
deal with a specific idea or ideas. The candidate is expected to answer the questions as set
and not provide a general comment on the subject matter as a whole. If a candidate adopts
a broad-brush approach he/she will be unlikely to focus on the questions as set, leading to
digression and irrelevance.

Component 3: Mark scheme

One question 40 marks.

The marks are divided as follows between the two Assessment Objectives; AO3 and AO4.

Marks AO3 | AO4 Total marks
Question (a) or (b) 20 20 40
Total 20 20 40
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Component 3: Marking grid for critical response in writing: 40 marks

Marks | AO3: manipulate the language accurately, in written forms, Marks | AO4*: show knowledge and understanding of, and respond critically to, different
using a range of lexis and structure aspects of the culture and society of countries/communities where the language is
spoken
e Accurate manipulation of the language of study, with only e Adetailed, critical appreciation of the literary work / film which is well supported by
minor errors. evidence.
17-20 | ¢ Use of a good range of lexis and grammatical structures. 17-20 | « Points of view are justified and fully developed, with valid conclusions.
e Style and register is mostly appropriate for the task set. e Entirely relevant response to all aspects of the question.
e Generally accurate manipulation of the language of study, e A critical appreciation of the literary work / film which is supported by evidence.
with few significant errors e Points of view are justified and developed, with valid conclusions.
13-16 | ¢ Use of a reasonable range of lexis and grammatical 13-16 | « Mainly relevant response to all aspects of the question.
structures.
e Style and register is generally appropriate for the task set.
¢ Reasonably accurate manipulation of the language of study, ¢ A sound knowledge of the literary work / film but some evidence is irrelevant.
9-12 but with some significant errors. _ 9.12 | ¢ Points of view are expressed with some supporting evidence and some valid
e Some vocabulary is lacking or used inappropriately. conclusions.
e Style and register is sometimes appropriate for the task set. e Response is relevant to most aspects of the question.
e Many significant errors in manipulation of language, which ¢ A superficial knowledge of the literary work / film with evidence which is nearly always
affect accuracy. irrelevant.
5-8 e Sentences are short or incomplete. 5-8 ¢ Points of view expressed with little use of supporting evidence or conclusions.
e Style and register is very simple. e Response is relevant to some aspects of the question.
o Little if any understanding of grammar. e A knowledge of the literary work/film which is extremely limited and there is no
e Sentences are fragmented with very few correct patterns and supporting evidence.
1-4 features of language of study. Short phrases predominate. 1-4 e Only a few points of view made are relevant to the question set; any conclusions rarely
¢ Almost total reliance on anglicised structures. link to views expressed.
e Response has limited focus on the question.
0 ¢ Nothing of value. 0 e Nothing of value.

*Please refer to the subject specific additional notes when assessing AO4.
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El mundo de la literatura

GCE AS SPANISH

SUMMER 2017 MARK SCHEME

1. Federico Garcia Lorca: La casa de Bernarda Alba
(a) Comenta la actitud y el comportamiento de Adela ante su destino. [40]
AO4 In response to the essay question the candidate may:

discuss the expectations of a girl of her age at the time of the play
consider Adela’s rebellious attitude towards her mother

discuss the impact on Adela of the long period of mourning
imposed by Bernarda

reflect on Adela's relationship with Pepe el Romano and her dramatic
death

The above points are suggestions only and are not exhaustive. Look for

and reward all relevant points argued by the candidate.

© WJEC CBAC Ltd.
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Sticky Note

Generally accurate manipulation of the language of study, with few significant errors.
Use of a reasonable range of lexis and grammatical structures.
Style and register is generally appropriate for the task set.



Sticky Note

A sound knowledge of the literary work but some evidence is irrelevant.
Points of view are expressed with some supporting evidence and some valid conclusions.
Response is relevant to most aspects of the question.




























Answer one question.

Después de elegir un texto literario o una pelicula, escribe un ensayo de aproximadamente 250
palabras en espafol sobre uno de los temas propuestos para cada texto. [40]

iCuidado! después de elegir el texto literario o la pelicula, tienes que escribir solo un ensayo.

El mundo de la literatura

1. Federico Garcia Lorca: La casa de Bernarda Alba

(@ Comenta la actitud y el comportamiento de Adela ante su destino.

© WJEC CBAC Ltd. (B810U30-1)















































































































































